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V Semester B.Com. Examination, November/December 2015
(Semester Scheme) (Prior to 2014-15) (Repeatt

COMMERCE - 3
Paper — 5.2 : Income Tax — | ((\’"’“ — __ﬁ, /'??,/}‘
(100 — 2013-14 Only) N 8 =<3 ;,’
(90 — Prior to 2013-14) TS
Time : 3 Hours Max. Marks : 90/100

Instructions: 1) Answer should be completely written either in Kannada or
in English.
2) Section A, B, C: Common to all students.
3) Secton —-D : Compulsory for 100 marks paper.

SECTION—-A

1. Answerany 10 sub questions. Each sub question carries 2 marks. (10x2=20)

BINS 03RYTTTR 10 LOBTINOT YUBOR. T8 GVT TIN1 2 LOBNTD.
a) Who is not ordinary resident ?
TOPOTEIRDVT QTR 0T 0330TI ?
b) Whatis agricultural income ?
8 &4 STCI DOTITERD ?
c) Give the meaning of perquisites.
TOOYNY 8;9@5-'5352{ eE.
d) Who is a specified assessee ?

?\)@FE&; 3ONTIO0 0TIT 3D 2
P.T.O.
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e) Give any 2 exceptions to previous year.

eSTIVOI) DRFTI O3 TTOTITLO DOTD aaawaéﬁ#dgt ed&.

f) State various heads of income.

DG STRCDT FrFHTR) BTO%

g) Write any two allowances which are exempted under salary income.

FOWS STIDOIT WBOIE)_20TT CINTYTINRTL DTG zjé?_sﬁejcﬁg{ TBO00.

h) Give the meaning of Municipal Rental Value.

RQTAYI WBN [PV eﬂqﬁrd@t Q8.

i) Mention any two examples of casual income.

TOODWE T e3THOIT Ay O3RN TOTITH 0T mmadﬁn’ejcﬁgi NeR.

i) What is recognised provident fund ?

DBNT,E DET PO, AR 0BT 7

k) What is the exemption given to hostel allowance ?

TR, PF IV, QETBI DTS DIV ?

1) Define the term person.

dgcdoﬁg{ 2R, TR

SECTION-B

t

Answer any five of the following. Each question carries five marks. (5%5=25)
O3RN TOTITO VT @’gﬁ@ﬁ QVBOR. T3 qu’)z.iﬁ 2T LI0BNSD.

2. Give the differences between capital expenditure and revenue expenditure.
WOTT WF OB TR, ANDF N [BYANTR) VR0
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3. Explain the various canons of taxation.

QNG ZOT AODBONT), WTOR.

4. ldentify whether the following incomes from land situated in India are agricultural

income or not.

a) Income derived from land used as stone quarries.
b) Rent from house property situated in a village.

¢c) Income from sale of forest trees of spontaneous growth.

d) Interest on loan given to a farmer.

e) Income from agricultural land situated in urban area.

FOTBBEOR LFRLOCIOTI 20T ESTIVOD T LTI SIovek ebai;gzﬁdl 83 3SNIJINYoT
MOCISA.

a) e Iedrt YVTO3RENAT 23R0N0TI WOTI ESTIDOI.

b) 90309, SSRROBTITI O 0T LOT LWBN.

C) A dzpa&ba-’mﬁ 23303 FOTOTOTNE S390T0 30T WO L3OO,
d) 33art drw mOw BoedI W,

e) SN BBBTY, SSRRCBTI F & PRROOWOT WOTS BTIVOD.

Miss Ragini an Indian citizen went to Australia on 1 st August 2014 for employment

purpose and came back to India on 315t March, 2015. Calculate her residential

status forthe A.Y. 2015-16.

T30 THOIDT B0 TONES ej@eémﬁ mcﬁr%eﬁzj m%eaﬁéom 30 wrﬁ; 2014 TotH
BrreN31 e 937201580t TR0, €350 QDR :%mw@t 30mar 2015-1 6§
FOBOEB 0.
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6. Mr.Shesha was a manager of a private company. He sought pre matured

retirement on 15t December 2014 after completing 20 years of service. His total

salary for 10 months preceding retirement was Rs. 50,000.

He had 10 months leave credit and was paid Rs. 60,000 as leave encashment.

Compute his exempted encashment for the previous year 2014-15.

¢ JemTTWTO ST0AN FOTQOID f%dm@'sjécaﬁq&do. 23300 20 [IeNY TeICH TeBT
13 850200° 2014 So) 25093 adag BROOTT. 9T "&de%oaa 2000T B Sony %32
202% 0. 50,000.

93T BB 3ony T waTe ma%w. ecﬁa%ﬁ 297300 T30 INToN T, 60,000559{
DET3). 2538 IR ARIRTOI00TS WOTI &)@o&aécdasi éddads'2014—15§ F0TEEEBO00.

7. Miss Sneha is a owner of a house. The particulars are given below
Fair rent — Rs. 50,000
Municipal value — Rs. 55,000
Standard rent — Rs. 60,000
Rent receivable — Rs. 6,000 per month
Unrealised rent - Rs. 6,000
Vacancy period — 17/, months

Municipal tax — 10%

Calculate annual value of the house for the previous year 2014-105.

BORIO REHTHT 2073 WIFOD RROETTD. T30 WITNED B3 FYTOB0SE -
39, 030038 Wk - Te. 50,000

20RLICL =IPY, - Te. 55,000

TRREST &N - 8r. 60,000
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PR BBCOWBITTEI - 0R. 6,000 Eloaia

SRASONTG WM - Tw. 6,000

22O BT 93 - 1 17, omeb

203 301 - 10%

35030 TS BT 200 IRF 201415 § FoBZEOWD,

8. Mr. Kishore (resident) an employee of a private company in Mumbai. Calculate

taxable House Rent Allowance (HRA) for the assessment year 2015-16.

Basic salary — Rs. 30,000 p.m.

DA — 50% of basic (50% enters to retirement benefit)

Commission — Rs. 5,000 p.m. (not based on turnover)
Bonus — Rs. 10,000 per annum

HRA —Rs. 15,000 p.m.

Rent paid by him Rs. 12,000 per month.
3¢ $B10¢T° TR0V ( VTR) 230008 S50AN FOIDICL YVTIR), eN. 90 SOTT PRI O3

SRR 38,0303, SORRF 2015-16 F FoRLBAWO:

S® Fe3T - BR. 30,000 Sonen

2063 238, - DR FeSIT Je5tE 50 O, (‘éodeg POIT 3e5ts0 500 S ebrin)
BRI — Sonn Tr. 5,000 (djaoowd 37300 d&oé)

23ReTF® - wokf s 8. 10,000

0% et 998, - 0w, 15,000 Sonen

TR TORSRIBTO &R - 8. 12,000 Sonen.
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SECTION-C

Answefany three of the following questions, each question carries

15 marks. (3x15=45)

S9NS CIRRTHTAR S FIReR 30 F3 FIr15 wosnsd

- K

9. Mr. Yash has three house properties. The details are given below.

Rs. Rs. Rs.

Particulars House | House i House lll
Municipal value 80,000 1,00,000 1,20,000
Fair rent 90,000 1,05,000 1,10,000
Rent received 50,000 — 1,00,000
Municipal tax paid - 5,000 6,000
Municipal tax due 4,000 2,000 1,000
Repairs 2,000 8,000 2,000
FFire insurance premium 700 1,000 1,200
Interest on loan :

a) Forconstruction ° 10,000 8,000p —
b) Forrepairs — — 5,000
Nature of use let out for residence SOP  Let out for business

Compute taxable income from house property for the A. Y. 2015-16.




10.

3¢ O30T BT TRT BIVOD 7,33, BROOTRT. TT BEENW B4 39TOBOET.

UN - 391

Ainieale o e | o3
TR 2o, 80,000 1,00,000 1,20,000
599,03/00233 LB 90,000 1,05,000 1,10,000
2O DETOPTO 50,000 - 1,00,000
R)TRI03 307 T0DSAT, - 5,000 6,000
2)0RLIO3 301 W0 4,000 2,000 1,000
DTONED 2,000 8,000

2308 SEO03D FOBD 700 1,000 1,200
OB 0D W

a) QWVF R, 10,000 8,000 =
b) dIeon - - 5,000
VROIRENT Oe8 SORT, LR VBT X083 29, SOTE, LORN

QeRT
30==mc 2015-16 6& 0 33030 30NN 2SO ST c:adaszc‘).zt 50@&:@0&)@.

Mr. Ganesha an Indian citizen provides the following particulars of his income.

Compute his gross total income for the A. Y. 2015-16, if he Is
a) Resident

b) Not ordinary resident
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c) Non-resident.
1) Income from agricultural land situated at Mangalore Rs. 20,000.
i) Interest received from a company in USA, remitted to India Rs. 15,000.

iii) Commission received in India for services rendered in Sril.anka Rs. 60,000.

iv) Profit from business in Australia controlled from India (1/,™ received in

India) Rs. 40,000.
v) Interest on post office savings bank account Rs. 5,000.
vi) Profit from business in Bangalore Rs. 10,000.
vii) Income earned in Sydney but received in USA Rs. 25,000.
viii) Share of income from partnership business Rs. 15,000.
1X) Dividend from foreign company received in China Rs. 5,000.

X) Profit from business in Mysore controlled from Sri Lanka (half recelved in

Sni Lanka) Rs. 50,000.
xi) Agricultural income from agric;ultural land situated in India Rs. 20,000.

xil) Past untaxed foreign income brought to India Rs. 1,00,000.

POTIT PNOCTTIT ¢ NS TR0 BTHOIF, FOWOAT W FPFOROSH. TODRF
2015-16 § &5ZI RO STHORTIY FoROLBOWD - LD

a) @mﬁoodmﬁa%r{
b) T TEIDYT VTDRCIRNTIN
c) e@m%aﬁmﬁm@rﬁ

) SOONTROIYTI T3 LRRDO0A0T WOT $3T303d Tre. 20,000.
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i) C300. 95 . 0> FTRO0T 2007 28, U TR, . 15,000,
i) 30T RO RS POSRO, BT BRBY, de. 60,000.

V) 2IDTBROT VCI0EBTONISTI &7 geef)od)bd mémdéod 200T3 ©0LI

(/4 3m 20859, IR ) 8. 40,000.
V) £3023 BEICO0T LVPTOR TZOU0TI 20T W . 5,000.

vi) 3OMFROI mémdéocﬁ 20033 @023 o, 10,000.

vii) %@9@@ RPATI L3TIVOID O30, IR . ), médcﬁ% 8. 25,000.
viii) TOOTOF mzsmdaod 20T e3TTOCNT T Tw. 15,000.

IX) T3ed BOTAONIOTS WOT CoLIR0B L3 TDE). TETTO, Tre. 5,000,

x) 5005000 Do&o@émn’agdaw ﬁ%zifa@é BOTROI0TI 2008 €0 (eqﬁrcﬁ"’w;

3,0050E) DETTY, ) onR. 50,000
Xi) LR TBTEOS T & LIRD0T 20073 F 4 STV os. 20,000.

Xii) 200 BONNRATTET DTS 3TT0I md@% Clelalab] 3. 1,00,000.

11. Mr. Murthy is an employee of a private company at Delhi. He gives the following

information for the previous year 2014-15.
a) Basic salary Rs. 15,000 per month.

b) DA Rs. 10,000 per month (enters to retirement benefit).

c) Entertainment allowance Rs. 12,000 p.a.

d) CCA Rs. 1,500 per month.




UN — 391 10- O O R

e) Commission 0.1% on turnover achieved (turnover achieved by him was

Rs. 10,00,000).

f) Hostel allowance Rs. 500 per month for his child.

g) Company provided rent free furnished accommodation which is owned by

the company and its fair value Rs. 50,000 p.a.
h) Cost of furnishing Rs. 50,000.
) Company provided services of (paid by company).
o Gardener Rs. 1,000 per month

* Sweeper Rs. 500 per month.

iy Company also paid professional tax of Rs. 150 per month on behalf of
Mr. Murthy.

Calculate income from salary for the A. Y. 2015-16.

e SRS TRTO BBOCI S59RN FOTRCI LVTR, N, 9233 LO0OI e 2014-15 éﬁ ALK
m&oér{@@t S)eﬁém@d

a) DROBEBI T donent ae. 15,000.
b) 33@%233; o, 10,000 doner (S)dé a‘aez%g ANevTIN )-

el0

c) SoIeedowe P awr g oe. 12,000.
d) SNo e, sonen an. 1,500.

-

)
)
e) Ba0RD® 0.1% 3850630 A RATT Roeds (0. 10,00,000 TR, DT OO0
f) ébma@r?ooo:bd 238, 900 zoroRn ©8 donent oe. 500.
)

g) 20D BOSTATIT BN C&3 RIRHF JRABI, VBT [T BT0 T3S
3300, TodF s tR. 50,000.
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h) DCBROTTOLING dj‘ae;s 8. 50,000.
i) 20030 95307 WHNAT RSN (éowaodoo mdé*’no_%dafg)da).
o 2RCWMOT X3 3onen 8n. 1,000

* 2,650° T3 donwn 0. 500.

) & RSO T JTON 90 mcﬁmﬁeﬁ ébﬁommq FRE TOWSRET Eonsn
. 150.
80=RF2015-16 3 Roeos Sw0d0Es) 35, T8,

12 Mr. Ravi has three houses in Mysore. Following are its particulars.

Rs. Rs. Rs.
House | House Il House I
Municipal value 20,000 60,000 60,000
Fair value 35,000 65,000 70,000
Rent paid per month 2,500 — 4,000
Standard rent — | 62,000 65,000
Municipal tax paid 10% 10% . 10%
Nature of use Let out SOP et out
Fine insurance premium 500 600 700

Mr_Ravi took a loan of Rs. 1,20,000 at interest of 12% p.a. for the construction

of House |l. The details of which are

+ Date of borrowing 15! January 2010

e Date of completion of construction 315! December 2013
e Date of repayment of loan 15 July 2015

Compute income from house property forthe A.Y.2015-16.
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8¢ BROITT B RPOTY_ FoRT1 SOINYRY BRoDTRT. BITST WO BFF0BOS

DRTRL oS | e | R
DOAL 0, 20,000 60,000 60,000
59,03500288 TP 35,000 . 65,000 70,000
& Sone Wadn 2,500 - 4,000
BRI WORNA - 62,000 65,000
20RO 301 mdam% 10% 10% 10%
VTO3RENT Oed RN R,03%, PR
2308 0 FOBV 500 600 700

8,¢ 00320 2O T A 8,000 Te. 1,20,000 533 35z 120 s5oduf & RS Tow

DETI0V. Qﬁdﬁ'; QOLODRATI TN &N :

¢ O IRT O0T1Ie 23502010.
* B ABRF D PPIIFIROE D033 1:3¢ B2 2013,
* O RTINS BB DIoT 13¢ wcz 2015.

30x=ae 2015-16 %doz'i 32080 wmcﬁad@i FOTRI&EBCD.

13. Mr. Arjunis an employee of private company at Bangalore. He gives the following

information of his income for the previous year 2014-15.

a) Basic salary Rs. 25,000 per month.
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b) DA Rs. 5,000 per month.

c) Education allowance Rs. 200 per month per child for his two children.

d) HRA Rs. 12,000 per month (Rent paid by him Rs. 10,000 per month).

e) Conveyance allowance of Rs. 5,000 p.a. was paid of which Rs. 4,000 p.a.

was used for official purpose.

f) He and his company contributes 14% of salary towards RPF.
g) Intereston RPF was Rs. 12,000 at 12% p.a. on accumulated balance.

h) Company provided car of 1200 CC along with driver which was used for both

official and personal purpose.

) Income tax was paid by the company on behalf of Mr. Arjun Rs. 5,000 p.a.

i) Telephone bill of Rs. 6,000 p.a. was paid by the company on behalf of Arjun.

Compute income from salary forthe A. Y. 2015-16.

3¢ 92507 & T30 230N RO s39AN FomACLE) LTdReNc3RNTIZYT. 29300 0D PRF

2014-15T 3550030 é:)ddmfdl ?)e@cs%d
a) [NO I3 Sonwnt on. 25,000
b) @béi ,. 3’2’5 3onen 8. 5,000

c) 33588 238, & RoroRr Sortert o, 200 Bod 53T Ko Foger
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d) O m@ﬁ adéas E_ujé Sonen on. 12,000 (Eﬂdd) md@:b%dad eJo8n e, 10,000
éoﬁ@ﬁ)

€) TOTIOTD LuresTs %38, 0300T30 ok E BR. 5,000 TOBERIET. BTOE) TOXFT
o, 4,000 DD, FLIEOOW mcégaﬁ% LPRCOTET.

{»,
L

) TMEAT 0N BaE DO wik), BRBE o ok Wi de. 12,000 ez

1200 .
%

) S0 ReAE F B0* 7631200 CC 22985, 55300 8670 Tt 3503088 cumcdnentg

WPRTIT.
) ©WOFT*T TO@IN FOTICIND L953T 5TV éérﬁcﬁodgL mdéﬁoz:’% ONEF TR. 5,000.

J) ©WIFDO W0ZIN FOTIOLD BRTTLS L 6523 o3 3R, 6,000 DI TV

30SR2015-16 3, Rowys sTRoEs) 8 8.

SECTION-D

Answer the following question. Compulsory for 2013-14 students only. 10

B FYNT TIOT BT0DTN GVZoR. 2013-140 NT,RFNORRRT,

t4. Mr. Ranganath retired from service on 15t August 2014. His pension was fixed at
Rs. 8,000 per month. He commutes 3/, of his pension for Rs. 1,50,000 on

15t January 2015. Find out tax-able value of pension forthe A.Y. 2015-16 if :

a) Heis a government employee.
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b) He is a non-government employee and receives gratuity.

c) Heis a non-government employee and does not receive gratuity.

3¢ Soneito 18e sna’ 2014 3ot eS0T Dy 2ROOTD). €938 L023EF0T0 0NN

3. 8,000 BoB ANARROB). 95360 13¢ wI302015 Tot, %/ 4 LRNRTRD, Lorsec0s
30,cR¢80% 8R. 1,50,000 TAET. 8T==E 2015-16 3 30NN WD QOWED

BOTIEEROID. €930,
a) T O @%doaﬁcgad
b) BLICAD DB ATOF O daéddomaq)d,

c) BLBND DBEOINTIE AT O ﬁaﬁdoaf\%d




